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Figure 78. The parton—parton luminosity [%dﬁ/ ] in pb integrated over y. Green = gg,

Blue = Y ;(gqi +8Gi +49ig +§ig), Red = >, (giGi +§iqi), where the sum runs over the five quark
flavours d, u, s, ¢, b. The top family of curves are for the LHC and the bottom for the Tevatron.
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Figure 79. The ratio of parton—parton luminosity [% ddLr” ] in pb integrated over y at the LHC

and Tevatron. Green=gg (top), Blue=)",(gg; + gg;i + gig + gig) (middle), Red=)",(¢;g; + Giqi)
(bottom), where the sum runs over the five quark flavours d, u, s, c, b.



